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e 3 3 449| 249,480 e = 3 701 1,071,360
4 i3 3 462| 247,320 4 = 3 735[ 1,247,400
E i3 3 610 276,480 o4 = 4 478| 282,960
e 3 4 540| 144,720 e = 4 487| 325,080
E i3 4 660 238,680 4 k3 7 433| 343,440
B i3 4 855 388,800 o4 It 10 587| 441,720
Y 3 5 805| 289,440
E i3 5 824 398,520
34 ii: 5| 858| 346,680 [ B35 N
LY i3 5 907[ 447,120 | mig® |MRE| F£5 | KRE | GaH) k=
E i3 6 774 306,720 R i3 3 588| 594,000
B i3 6 880 429,840 RHE i3 3 647 716,040
e 3 6 898| 383,400 T i3 3 664) 767,880
E i3 6 961| 475,200 R i3 3 668) 687,960
4 i3 7 616] 166,320 RHF i3 3 707 776,520
e 3 7 745| 336,960 T i3 3 721| 818,640
e k3 7 831| 406,080 T i3 3 724| 817,560
4 It 8 626 224,640 R It 3 735 760,320
E It 8 640 166,320 s It 3 736 837,000
ES i3 8 835| 379,080 R i3 3 743| 855,360
L4 i3 13 807 341,280 R i3 3 745 772,200
RHF It 3 749 776,520
T i3 3 819] 970,920
T k3 3 843| 1,003,320
X BELTOIREIIFTERILISFTT. R i 3| 845| 1,000,080




